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RJEŠENJA PROBNOGA ISPITA DRŽAVNE MATURE IZ FIZIKE 

U ŠKOLSKOJ GODINI 2022./2023. 

 

 

BROJ 

ZADATKA 
TOČAN ODGOVOR 

1. D 

2. C 

3. D 

4. C 

5. B 

6. B 

7. A 

8. B 

9. B 

10. D 

11. A 

12. A 

13. C 

14. A 

15. C 

16. D 

17. A 

18. D 

19. C 

20. D 

21. C 

22. C 

23. A 

24. B 

25. 

𝑝1

𝑇1
=

𝑝2

𝑇2
                                          1 bod 

𝑇2 = 381,97K ili 𝑡2 = 108,82°C     1 bod 
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26. 

𝑠𝑖𝑛𝛼 =
𝑛2

𝑛1
   1 bod 

𝛼 = 59,1°   1 bod 

27. 

𝐹𝑢 = 𝜌𝑧𝑉𝑔 i 𝐹𝑔 = 𝑚𝑔  1  bod 

𝐹𝑢 = 𝐹𝑔 + 𝐹𝑁    1   bod 

𝐹𝑁 = 184,14 N                  1 bod 

28. 

𝑄1 = 𝑊 + 𝑄2                          1  bod 

𝜂 =
𝑊

𝑄1
                           1  bod 

𝜂 = 0,69        ili      𝜂 = 69%   1  bod            

29. 

𝐹𝑒 = 𝐹𝑐𝑝                              1 bod 

𝐹𝑒 = 𝑘
𝑒2

𝑟2    i  𝐹𝑐𝑝 =
𝑚𝑣2

𝑟
       1 bod 

𝑣 = 1,1 ∙  106 m/s               1 bod 

30. 

1

2
𝑚𝑣2 = 𝑒𝑈                        1 bod 

 =
ℎ

𝑚𝑣
                                1 bod 

 = 3,9 ∙  10−11 m               1 bod   

31. 

𝑚2𝑣 = (𝑚1 + 𝑚2)𝑣𝐾   1 bod 

𝐸𝑘 =
𝑚𝑣2

2
  i   𝐸𝑝 =

𝑘𝑥2

2
   1 bod 

1

2
(𝑚1 + 𝑚2)𝑣𝐾

2 =
1

2
𝑘𝐴2  1 bod 

𝐴 = 0,79 m    1 bod 

32. 

𝐹𝑅 = 𝐹𝑉 − 𝐹1,       𝐹𝑉 = 0                    1 bod   

𝑣𝑝𝑔 = 𝑣0 + 𝑎𝑡         1 bod   

𝑠 = 𝑣0𝑡 +
1

2
𝑎𝑡2  1 bod   

𝑠 = 1,5 m  1 bod 

33. 

𝐼 =  
ℰ

𝑅𝑣+ 𝑅𝑢
                      1 bod   

𝑈 = 𝐼𝑅𝑣   ili    𝑈 = 𝐼𝑅     1 bod   
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Ru = 3                        1 bod 

ℰ = 10,5 V                    1 bod 

34. 

𝐵ž =
𝜇0𝐼

2𝜋𝑟
     1 bod 

𝐵𝑧 = 𝜇0
𝑁𝐼

𝑙
   1 bod 

𝐵𝑢𝑘 = √𝐵ž
2 + 𝐵𝑧

2   1 bod 

𝐵𝑢𝑘 = 1,3 ∙ 10−3 T            1 bod   

35. 

35.1. 4.                                     1 bod   

35.2. 3.                                     1 bod   

35.3. 𝐸𝑢𝑘𝑢𝑝𝑛𝑜 = 𝐸𝑘𝑚𝑎𝑥 =
𝑚𝑣0

2

2
           1 bod  

               𝐸𝑢𝑘𝑢𝑝𝑛𝑜 = 1,08 ∙  10−4 J            1 bod 
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